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NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers ABC &D
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1.1. A float uses bytes of memory: e e de,{‘.ﬁ,ﬁ.ﬁ 34
(A) 3 (B 4 )5 (D) 6

2. Which operator has highest precedence among the following? ‘.“auyc,qé}d:-‘.ju’;.ufd_’s@» 2
(A)/ (B) = ) > (D) +

3. Ternary operator is applied on””/ _ operands: 7 t'f(K{)iz{T EL87 3
(A) 1 (B) 2 ©) 3 (D) 4

4. How many types of control statements in C-language? ‘.'q;(u"l(};( J J‘}t‘:):/"/ufé,@-c 4
(A) 1 (B) 2 (C) 3 D) 4

5. Conditional logic helps in e Gk Ju,ﬂ}.f 5
(B) dterations uul){

(D) Delétion 2%

(A) Decisions u;kj
(C) traversing @y Yoy ?
elndr A0 6
(D) Condition %
e bt Tboy bl e pie 7
(C) Expressions /’lﬁ-{i (D) Functions /56
:q_?én___&ul&ui@ .8

structure:
(B) Control d’/‘-f
7. make it easier to read and write values in array:

(A) Loop 4

6. Anarrayis a

(A) Loop 4

(C) Data &}

(B) Conditions 417

8. Function could built in or

(A) Admin defined  Zipi.sLf
(C) Userdefined 3.y
9. What will be the output of the following?
void abc( )
{
printf("Pakistan");
}

(A) Punjab (B) Pak

10. ' means to transfer the control to another function:

(A) Caling ¥  (B) Defining &

(C) re-writing

(B) Serverdefined Xs,

(D) Loop ¥
o ee s TS5t 9
void abc( )
{
printf("Pakistan");
}
(C) Pakistan (D) Pun
S VAL e 10
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NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to
each question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front
of each question with Marker or pen ink on the answer sheet provided.

Include statements are written in______ section: :uj&lgu‘[ L}‘Iuﬁg uyj’f‘ Include .1.1
(A) header .4 (B) main ¢~ (C) Comments o~ (D) print =y
Let the following part of code what will be the value of a ?ngog J "a"f"‘p!&é.x_'—r,,?}:( ‘.2»,(}:( 2
variable "a" after execution: '

int a=4, int a=4;

float b=2.2; float b=2.2;

a=a*b; a=a*b;
(A) 8.8 (B) 8 (C) 8.0 (D) 82
The operator "%" is used to calculate__ : :‘4tndla;’l¥i./¢£ﬂf’/ ____"%"/:47 3

(A) Pércentage éaz (B) Reminder i, (C) (Factorial J/}Q (D) Square {r
Which of the following is a selection statement?
(A) if (B) For (C) whilé (D) do while

How many types of control statements in "C"? ?Q_?Jnu"’/b{}:/"/gf(u"lfl et .
(A) 1 (B) 2 () 3 (D) 4
What is the size of array in this statement? ?‘49’7’»&_/&;&»5‘51/! .
(A) 1 (B) 10 () 11 (D) 9
structure allows repetition of set instructions: :g_t‘ndb:ﬂéf_i/ Llﬁ;Jg/l,fé.nyaLl,g.fﬁﬁ,//‘f___ .
(A) Loop ..’.a’ " (B) Conditional L:;‘ {C) Control ;J:/“'/ (D) Data &3
The functions which are available in C standard library are called___: :ujd".lkf ___)’-:G;;:?/(,ﬂdg/:’vb%c y
(A) Userdefined %3,y (B) Built-in @1t
(C) recursive u";;lf (D) repetitve $AF
What is the type of parameter in this function? ' ?‘Ly:;/’ BJ)/‘:’ !,g.-u.’fuicu’t
(A) int (B) char (C) area (D) float
What will be the output of z: :Jng@f J z
int z=abc(int a=2); int z=abc(int a=2);
int abc(int x) int abc(int x)
{ {
return x+5; return x+5;
} }
(A) 2 B)7 (C) 5 (D) 10
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NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to
each question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front
of each question with Marker or pen ink on the answer sheet provided.

1.1. Include statements are written in section: :ugélgu’j U:u% Jﬁf/ Include .1.1
(A) header iz  (B) main ¢ (C) Comments (D) print iy
2. Let the following part of code what will be the value of a ?J)’lgﬁ'»«g S a" il i naak o 63 2
variable "a" after execution: '
inta=4; int a=4; 1
float b=2.2; float b=2.2;
a=a*b; a=ab; ]
(A) 8.8 (B) 8 (C) 8.0 (D) 82 i
3. The operator "%" is used to calculate___ e m)b&lz&f Py vy o —_ "%k T3
(A) Pércentage ﬁ (B) Reminder i (C) .Factorial J..Jfg (D) Square @
4. Which of the following is a selection statement? ?‘a..')*"-‘-” (fg‘/ cﬁ'ﬂf;z—_u.‘.d;'@n 4
(A) if (B) For (C) while (D) do while
5. How many types of control statements in "C"? ‘-‘ug&w "U:}-’/Jrﬁlf Lc" 5
(A) 1 (B) 2 ©) 3 (D) 4
6. What is the size of array in this statement? ?q_gibKa.Jluf.:ffw 6
(A) 1 (B) 10 ©) 11 (D) 9
7. structure allows repetition of set instructions: :g_t'ndb?lé;.’, Lr,wpgf:_ﬂ’a:gy{,@‘:{ T
(A) Loop ¢ (B) Conditional  bs/~ (C) Control s (D) Data j
8. The functions which are available in C standard library are called___: :ugZ..lkv( _)ﬁi%dﬁdgﬁﬂbﬁf@ .8
(A) User defined  X°ly3.y (B) Builtin @il
(C) recursive u"gﬁf (D) repetitive d/’f
9. What is the type of parameter in this function? ' ‘-‘:‘:..Lf.{’ hfjf‘f w-u'.'ui@ w .9 4
(A) int (B) char (C) area (D) float ;
10. What will be the output of z: J:ﬂ;'::f J z 10
int z=abc(int a=2); int z=abc(int a=2);
int abc(int x) int abc(int x)
{ {
return x+5; return x+5;
} }
(A) 2 (B) 7 (C) 5 (D) 10
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L;/LJZ,UJ/WIJﬁ" i -ﬂdww‘jﬂw’?// i -q/u/ui'/él-ul/{l:_ i
ot Kuwc,nf getch( ) .vi -u.fjw("\n"ul"\t" ] Sl

8=4x2 -e_éiayzf"’éuzugaéfc_wdsw -3
L b B i _JSB PSS i _u:’”uﬁ“ KU s

sl ar s T3 Vi sl e PP 41 Y "c.Lrl//f/Ja/M iv

int b[ 1={6,7,8,9,10};
for (int €=0,¢<5;0++)
printf("%d\n",bI]);

8=4x2 :3-{ fvt'j’/zférl? f/b:—d}(r_.ufd' 3l -4
Sl A s i Se e s TUUL3Es il ,::’gz_a/u:,/mmf,f?t
inti;
for(i=1;i<5;i++)
printf("*");
‘-'Laﬂ/l[c,L/JW’luguﬁﬁé Vi _4;/;({&5£,€C£u56 v ?‘a)l/lfc,i—fdgfuig Jiv
16=2x8 (1>
LAfer e e pits 10
8=2+2+2+2 4{( w.d"t»w! VIR 4){,4/ el 5
8=2+242+2 é';ou,;uﬂv&/ﬂﬁ ucdfut(,,ﬂ-c- TSV
8=4+4 -:_/.z/g_}"' b’:,wo{’u“‘ﬁﬂ/ 1 ;rz_/‘JW'f.,;’For 8 |

» NS (éeﬁi)(w;&‘)u‘; L«/‘{J
. Ui 2 1:45:3
8=4x2 Z‘*’p ’CI -2 éjyuy/féwwc,éfc.c;ww -2
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2- Write short answers of any four parts from the following. 2x4=8
i. Differentiate between ==operator and =operator. ii. Write any four examples of character constants.
ili. What is meant by variable initialization? iv. What are purposes of comments?
v. What is getch( ) function?Write its syntax. vi. Write the purpose of "\t" and "\n".
3- Write short answers of any four parts from the foliowing. 2x4=8

ii. Define the control statement.
iv. What is nested selection structure?
vi. What is the output of code

int b[ 1={6,7,8,9,10};

i. Write the syntax of nested "if" statement.
ii. Draw the flowchart of "if* statement.
v. What is array initialization?

for (int €=0;£<5;¢++)
printf("%d\n",b[l]);
4- Write short answers of any four parts from the following. 2x4=8
i. Differentiate between arguments and parameters?  ii. What is the output of the following?
inti;
for(i=1;i<5;i++)
printf("+");
fii. What is meant by nested loop structure? iv. What is meant by to call a function?
v. Write the structure of signature of function. vi. What is meant by Reusability of functions?
Section -1I 8x2=16
Note: Answer any two questions from the following.
5. Define computer program.Describe structure of C program in detail. 242+2+2=8
6. Define operators. Explain any three arithmetic operators in C-language with examples. 242+2+2=8
7. Write a program using FOR loop to print table of any number. ,/\’ 4+4=8
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